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Use 2 shuttles with 2 beads on SR2 (inner side of SR) covering both ends at the start.

SR1: 5/1vsp3Cl

SR2: 5/4Cl ’1\’2\

SR3: 5/2B2Cl "33

SR4: 5/ 3 LBP (12 beads) 1 Cl A

SR5 to SR8: 5/ 4 Cl ‘D a1 )

SR9: 5/ 1 + (LBP) 3 Cl le .’3)

SR10:5/2B2Cl = 4

SR11:5/ 4 Cl . %,

SR12:5/ 3 + (vsp SR1) 1 CI y Sk 8’&'_/‘:'@;.;5_) ,
1g.

www.janeeborall.freeservers.com 1


http://www.janeeborall.freeservers.com/
http://janeeborall.freeservers.com/allimages2/Large%20smile.jpg
http://www.janeeborall.freeservers.com/
http://janeeborall.freeservers.com/allimages2/Large%20smile.jpg

